





















Paraxial Wave Equation $\nabla \Box E = 0$ Zero charge density $\nabla \Box E = \nabla_t \Box E_t + \frac{\partial}{\partial z} E_z = 0$ Separate transverse and axial
components $E_z = E_o \exp(-jkz)$ $k \sim \omega n/c = 2\pi n/\lambda_o$ Major z dependence $\frac{\partial E_z}{\partial z} \sim -j \frac{2\pi n}{\lambda_o} E_z$ Approximate derivative of E wrt z $\nabla_t \Box E_t \sim \frac{E_t}{D}$ Approximate transverse divergence given a
finite beam diameter D $|E_z| \approx \frac{\lambda_o}{2\pi n D} |E_t|$ z component is small compared to
transverse component

Separate the rapid variation in z from the slow spatial variation in x,y and z

$$E\left(x, y, z\right) = E_{o}\psi\left(x, y, z\right)e^{-jkz}$$

$$\nabla^{2}E + \frac{\omega^{2}}{c^{2}}n^{2}E = 0$$
Substitute into the wave equation

$$\nabla^{2}_{t}E + \frac{\partial^{2}E}{\partial z^{2}} + \frac{\omega^{2}}{c^{2}}n^{2}E = 0$$

$$E = E_{o}\psi\left(x, y, z\right)exp\left(-jkz\right)$$

$$k = \frac{\omega}{c}n$$

$$\begin{aligned} & \text{Derivatives needed for next step} \\ \hline \nabla_t^2 E = E_o \left(\nabla_t^2 \psi \right) exp \left(-jkz \right) \\ & \frac{\partial E}{\partial z} = E_o \left(-jk\psi + \frac{\partial \psi}{\partial z} \right) exp \left(-jkz \right) \\ & \frac{\partial^2 E}{\partial z^2} = E_o \left(-k^2\psi - j2k \frac{\partial \psi}{\partial z} + \frac{\partial^2 \psi}{\partial z^2} \right) exp \left(-jkz \right) \\ & \nabla_t^2 \psi - j2k \frac{\partial \psi}{\partial z} + \frac{\partial^2 \psi}{\partial z^2} = \theta \end{aligned}$$

$$\nabla_{i}^{2} \psi - j 2k \frac{\partial}{\partial z} = 0$$

$$\psi_{o}(r) = \exp\left\{-j\left[P(z) + \frac{kr^{2}}{2q(z)}\right]\right\}$$

$$E(x, y, z) = \left\{\frac{w_{o}}{w(z)}\exp\left[-\frac{r^{2}}{w^{2}(z)}\right]\right\}$$

$$\times \exp\left\{-j\left[kz - \tan^{-1}\left(\frac{z}{z_{o}}\right)\right]\right\}$$

$$\times \exp\left\{-j\frac{kr^{2}}{2R(z)}\right]$$

$$q(z) = z + jz_0 \quad \text{Complex beam parameter}$$

$$\frac{1}{q(z)} = \frac{1}{z + jz_0} = \frac{z}{z^2 + z_0^2} - j\frac{z_0}{z^2 + z_0^2} = \frac{1}{R(z)} - j\frac{\lambda_0}{\pi n w^2}$$

$$w^2(z) = w_0^2 \left[1 + \left(\frac{z}{z_0}\right)^2 \right]$$

$$R(z) = \frac{z^2 + z_0^2}{z} = z \left[1 + \left(\frac{z_0}{z}\right)^2 \right]$$

$$z_0 = \frac{\pi w_0^2}{\lambda_0}$$











$$T = \begin{bmatrix} 1 \\ -\frac{1}{f_1} \\ -\frac{1}{f_2} \end{bmatrix} \begin{bmatrix} 1 \\ -\frac{1}{f_2} \\ -\frac{1}{f_2} \end{bmatrix} \end{bmatrix} \end{bmatrix} \begin{bmatrix} 1 \\ -\frac{1}{f_2} \\ -\frac{1}{f_2} \end{bmatrix} \end{bmatrix} \end{bmatrix} \begin{bmatrix}$$



$$\frac{1}{B} \left(r_{s+2} - Ar_{s+1} \right) = Cr_s + \frac{D}{B} \left(r_{s+1} - Ar_s \right)$$

$$r_{s+2} - 2 \left(\frac{A+D}{2} \right) r_{s+1} + r_s = 0 \quad (use \ AD - BC = 1)$$

$$assume \ r_s = r_o \left(e^{j\theta} \right)^s = r_o e^{js\theta}$$

$$r_o \left[e^{j2\theta} - 2 \left(\frac{A+D}{2} \right) e^{j\theta} + 1 \right] = 0$$

$$e^{j\theta} = \frac{A+D}{2} \pm j \left[1 + \left(\frac{A+D}{2} \right)^2 \right]^{\frac{1}{2}}$$

Form of Solution

$$r_{s} = r_{o}e^{js\theta} + r_{o}^{*}e^{-js\theta}$$
$$r_{s} = r_{\max}\sin(s\theta + \alpha)$$

Stability Diagram

$$-1 \le \left(\cos\theta = \frac{A+D}{2}\right) \le 1$$
$$0 \le \frac{A+D+2}{4} \le 1 \text{ stable regime}$$

$$\frac{A+D+2}{4} = \frac{1}{4} \left[1 - \frac{d}{f_2} - \frac{d}{f_1} + \left(1 - \frac{d}{f_2} \right) \left(1 - \frac{d}{f_1} \right) + 2 \right]$$
$$= 1 - \frac{d}{2f_1} - \frac{d}{2f_2} + \frac{d}{4f_1f_2} = \left(1 - \frac{d}{2f_1} \right) \left(1 - \frac{d}{2f_2} \right)$$
$$since \ 2f_1 = R_1 \ and \ 2f_2 = R_2$$
$$0 \le g_1g_2 \le 1 \ where \ g_{1,2} = 1 - \frac{d}{R_{1,2}}$$

